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3+3+3+3+3+3=18
6 3S

6 X3 =18



BATE WS By Ron

I VR i B ES P
factor Sign  factor product

6 tirres 3 equals 18
multiplication
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addition: 4+4+4+4+4 Al

multiplication:

(5) coffee cups, (4) peoplein\each one,

there are (20) peoplein all.




addltlon 2+2+2+2+2+2 12 .

6 TR

multlpllcatlon o N D ="12

( 6) little cars, ( 2) people in every ones,

there are (12) peoplein all.







How many biscuits are
there in the plates?

multiplication: 2 X5 =10




How many cupcakes are
there in the plates?
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multiplication: 3 X6 =18
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6 0sb6 4s

multiplication: 6 X0 =04
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1+2+2+3=8

Q 2+2+2+2=8
B 4X2=8
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